NAME

MATH 2401 PRACTICE QUIZ 1

1 Circle one correct answer for each problem.
Q) Which one of the following equations defines y as afunction of x?
@ =y =3 O ly-7=z  (©y*+z=y
(d) =3 (e) None of these
2 Find the domain of the function y = |12z — 3|.
1 1
@ (—oo, 1) U (Z,oo) (b) (—o0, o0)
©) (i oo) () z=1 (&) None of these
3 Let f(x) = cosz + sinxz. Find f(m).
(& Undefined (b) —1 (© 0
(d 1 () None of these
2. Find the domain the function.
y=+3—"Tx
3. Find the range of the function.
X
y_x+8

4. Letf(z)=+/z+2-5. Find f<x+h2_f(x).

Don't forget to rationalize the numerator.




Evaluate each limit, if it exists. If the limit does not exist, state that it does not
exist.
Q Iim3(2@;2 —xz+1)

T——

r—5
2 lim —
@ dim

(3)  lim[1 —9z|

r—4
4 im—-—
) e—412 — 61 + 8
.o x+1
5 lim
©) e—1x2 +1

49 — x
6 lim
(6) xﬂ497—\/5

Click here for the answers




NAME
MATH 2401 PRACTICE QUIZ 1

1 Circle one correct answer for each problem.
Q) Which one of the following equations defines y as afunction of x?
@ =y =3 O ly-7=z  (©y+z=y
(d =3 () None of these

The correct answeris (a)
2 Find the domain of the function y = |12z — 3.

@ (—o0 1)U (F.0) (b) (o0, c0)
© (i oo) () =7 () None of these

The correct answer is (b)
3 Let f(x) = cosz + sinxz. Find f(m).

(& Undefined (b) —1 (© 0
(d 1 () None of these
The correct answer is (b)
2. Find the domain the function.
y=+v3—Tx
Solve 3 — Tx > 0to find the domain :
—7z > —3
x <3/7
The domain : (—oo, 3/7]
3. Find the range of the function.
x . .
Yy = First solvethe equation fory :
z+8
ylx+8) ==
yr+8y ==
8y=x—yx
8y = (1—y)x
8y/(1—y) ==

Now examine the expressioniny :

1-—y#0,s01#y
Therange : (—oo, 1) U (1, co)

4. Letf(z)=+/z+2-5. Find f<x+h}z_f(x).

Don't forget to rationalize the numerator.

[V (z+h) + —5]—[\/x+2—5]: r+h+2-5—+\/zx+2+5

h h —
Vr+h+2—/z+2 _ Vet+h+2-—Ve+2 Jo+h+2+ /o +2 _

h h vVe+h+24+\/z+2
r+h+2—(x+2) B r+h+2—2-2 B
h(Vz+h+2+/z+2) h(V/z+h+2+/z+2)
h 1

hVetht2+v/2+2) Vetht2tJot2



Evaluate each limit, if it exists. If the limit does not exist, state that it does not
exist.
(1) HmJ%@—x+1%=%—&2—C%D+1:18+3+1=22

. x—5 . x—>5 . 1 1 1.
2 [im — =1lim = lim = = —1is
xﬂf5x2 — 925 $H75(.’B—|—5)($—5) xﬂf5.’13—|-5 —5+5 0

undefined, and sothe limit does not exist.

(3) lim1—92[=[1-9-1/3 =[1-3|=|-2[=2

Iﬂg

. x—4 . r—4 . 1 1 1
4 limw————=Iim =
v-42? —6r+8 a—d(x—2)(zx—4) iz —2 4-2 2

. rz+1 1+1 2
() xﬂle—i—l 12+1 2

49— (T4 1) (T - _
© 7 fg :,JLTg( \7/5_)&5 Vo) = lim (7+ /) = T+ /49 =

T+7=14
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